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RIER D FRIR XIS E

BR3—2 BEEMIERATHIEEEINHEHEICAHITLHEE (1/1) AEEE ERR18ERE
[ RERNEONE | BmES 144D2004 B % | R [ il = BEMiLLRIXEEL
SEROTIHICEHET 51 SlERHN
ﬁg TREFOBBOEILADKES TERZEOHBEEILIOKRES TREFOBBOEILADKES TREFDHBHILHOKRES
&S X 4 B | Fimh o0 iEE ADKES R 4 TimMoDKE| Z& ADKES X % B | Ao ottE ADKES X % HEhoolks | B ADKES
(m) (m) (kN/m) EEBfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
2 100kN/mM%E#BZ % -l -~ = -|3m&EBAB| - ~ = = —| 100kN/mM%H{EZ 5 = -~ = ~-|3m%EBZ 5 = ~ = = =
Zh s -l -~ = -| ZhuLis -~ = = = LS = -~ = -| Zhris -~ = = =
3 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#B% % = -~ = -|3m%EEZS ol ~ = = =
Zh s -l -~ = -| ZhuLis -~ = = = LS = -~ = -| Zhris -~ = = =
] 100kN/mM%E#BZ % -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.0010.00 ~ 7.04 89.30| #nList 000 ~ 7.04] 1.73 9.27 2% 1.00] 500 ~ 8.80 89.30| =14t | 500 ~ 880| 1.73 9.27
5 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EEZS ol ~ = = =
Lot 1.00]0.00 ~ 6.73 85.09| #nList 000 ~ 000 1.57 8.40 2% 1.00] 500 ~ 9.20 85.09| =nl4t | 500 ~ 9.20| 1.57 8.40
6 100kN/mM%E#BZ % -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBEZS ol ~ = = =
Lot 1.0010.00 ~ 7.08 89.91| #nList 000 ~ 7.08] 1.90 10.17 2% 1.00] 500 ~ 930 89.91| =n 4t | 500 ~ 9.30| 1.90 10.17
; 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Lot 1.0010.00 ~ 6.94 87.96| =nList 000 ~ 694 1.88 10.07 2% 1.00] 500 ~ 8.90 87.96| =14t | 500 ~ 890| 1.88 10.07
8 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Lot 1.00]0.00 ~ 525 65.44| Zh L4t | 000 ~ 525 1.79 9.58 2% 1.00] 500 ~ 5.70 65.44| =4t | 500 ~ 570| 1.79 9.58
9 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Th st 1.0010.00 ~ 6.33 79.55| #nLlst | 000 ~ 0.00| 1.58 8.46 % 1.00] 500 ~ 8.10 79.55| £h st | 500 ~ 8.10f 1.58 8.46
- 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Th st 1.0010.00 ~ 6.41 80.60] =nLlst 000 ~ 6.41| 1.81 9.67 % 1.00] 500 ~ 7.60 80.60| =14t | 500 ~ 7.60| 1.81 9.67
. 100kN/mM%E#BZ % -l -~ = —|3mEBAB| - ~ = = —| 100kN/m%#BZ % = -~ = -|3m%EBZS ol ~ = = =
Zh s -l -~ = -| Zhuis -~ = = = LS = -~ = -| Zhris -~ = = =
1 100kN/mM%E#BZ 5 -l -~ = —-|3mEBAB| - ~ = = —| 100kN/m%#BZ 5 = -~ = -|3m%EBZS ol ~ = = =
Zh s -l -~ = -| Zhuis -~ = = = LSt = -~ = -| Zhris -~ = = =
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Zh s ~ Zh s ~ LSt ~ LS ~
100kN/mM%E#BZ 5 ~ IMEBRD ~ 100kN/m%E# 2z 3 ~ ImEREZD ~
Znst ~ Znst ~ ZhLlst ~ ZhLlst ~
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